

Bengt Muthen UCLA bmuthen@ucla.edu

AERA HLM SIG, April 8, 2006

1

HLM ≠ HLM









Between-Level Bias In Two-Level Regression

Reference: Asparouhov & Muthen (2006). Constructing covariates in multilevel regression.

Between:
$$Z_{jb} = \overline{X}_{j} = \frac{l}{l} \sum_{i=1}^{l} X_{ij} = X_{jb} + \frac{l}{l} \sum_{i=1}^{l} X_{ijw}$$

Bias: $E(\hat{\beta}_b) - \beta_b = \frac{Cov(Y_{jb}, Z_{jb})}{Var(Z_{jb})} - \beta_b$
 $= \frac{Cov(Y_{jb}, X_{jb})}{Var(X_{jb}) + Var(X_{ijw})/l} - \beta_b$
 $= \beta_b \frac{\psi_b}{\psi_b + \psi_w/l} - \beta_b = -\beta_b \frac{\psi_w}{l\psi_b}$

- German TIMSS: n = 1,980 students, 98 schools, average school size = 20 (=1)
- y(math8) icc =0.55, x(disrupt) icc = 0.21. The disrupt icc results in $\psi_w/\psi_b = 4$
- Bias in the naive β_b estimate = $-1 \times (-1) \times 4/20 = 0.2$

7















Growth Modeling

- Is there really anything new to be said about growth modeling beyond conventional HLM?

Yes!

15











Two-Part Growth Modeling Of Frequency Of								
Heavy Drinking Ages 18 – 25								
Regular grow	rth modeling, trea Estimates	ting outco S.E.	me as conti Est./S.E.	i nuous. Std	Non-normal StdYX	ity robust MI.		
I ON								
MALE	0.769	0.076	10.066	0.653	0.326			
BLACK	-0.336	0.083	-4.034	-0.286	-0.127			
HISP	-0.227	0.103	-2.208	-0.193	-0.071			
ES	0.291	0.128	2.283	0.247	0.088			
FH123	0.286	0.137	2.089	0.243	0.075			
HSDRP	-0.024	0.104	-0.232	-0.020	-0.008			
COLL	-0.131	0.086	-1.527	-0.111	-0.052			
Two-Part gro	wth modeling							
IY	ON							
MALE	0.262	0.052	5.065	0.610	0.305			
BLACK	-0.096	0.059	-1.619	-0.223	-0.099			
HISP	-0.130	0.066	-1.963	-0.301	-0.111			
ES	0.082	0.062	1.333	0.191	0.068			
FH123	0.213	0.076	2.815	0.495	0.152			
HSDRP	0.084	0.065	1.289	0.195	0.078			
COLL	-0.015	0.053	-0.280	-0.035	-0.016			
IU C	JIN							
IU C MALE	2.041	0.176	11.594	0.949	0.474			
IU C MALE BLACK	2.041 -1.072	0.176 0.203	11.594 -5.286	0.949 -0.499	0.474 -0.222			
IU C MALE BLACK HISP	2.041 -1.072 -0.545	0.176 0.203 0.234	11.594 -5.286 -2.331	0.949 -0.499 -0.254	0.474 -0.222 -0.093			
IU C MALE BLACK HISP ES	2.041 -1.072 -0.545 0.364	0.176 0.203 0.234 0.234	11.594 -5.286 -2.331 1.560	0.949 -0.499 -0.254 0.169	0.474 -0.222 -0.093 0.060			
IU C MALE BLACK HISP ES FH123	2.041 -1.072 -0.545 0.364 0.562	0.176 0.203 0.234 0.234 0.235	11.594 -5.286 -2.331 1.560 2.045	0.949 -0.499 -0.254 0.169 0.262	0.474 -0.222 -0.093 0.060 0.080			
IU C MALE BLACK HISP ES FH123 HSDRP	2.041 -1.072 -0.545 0.364 0.562 -0.238	0.176 0.203 0.234 0.234 0.275 0.216	11.594 -5.286 -2.331 1.560 2.045 -1.103	0.949 -0.499 -0.254 0.169 0.262 -0.111	0.474 -0.222 -0.093 0.060 0.080 -0.044			







Multilevel Growth Modeling Three-Level Analysis

- Is there really anything new to be said about multilevel growth modeling beyond conventional HLM?

Yes!





Growth Modeling Approached in Two Ways: Data Arranged As Wide Versus Long (Continued)

•	Wide (one perso	on):								
				t1	t2	t3	t1	t2	t3	
	Person i:		id	y1	y2	y3	x 1	x2	x3	W
•	Long (one clust	er):								
	Person i:	t1 t2 t3	id id id	y1 y2 y3	x1 x2 x3	W W W				
										27





Chi-squ	uare (32) =	179.58. Leve	el 3 Esti	imates and S	SEs:		
		Estimates	SE	Est /S E	Std	StdYX	
SB	ON	Dottingeop	0.2.	B00., 5.2.	Dea	beam	
LUI	NCH	-1.271	0.402	-3.160	-1.919	-0.397	
MS	TRAT	1.724	1.022	1.688	2.605	0.185	
Residua	al Variance	s					
MA	TH7	0.000	0.000	0.000	0.000	0.000	
MA	TH8	0.000	0.000	0.000	0.000	0.000	
MA	тн9	0.000	0.000	0.000	0.000	0.000	
MA	TH10	0.000	0.000	0.000	0.000	0.000	
IB		5 866	1 401	4 186	0 736	0 726	
		5.000	1.401	4.100	0.750	0.730	
SB Allowin	ng Time-Spe	0.354	0.138 Residual	2.564	0.809	0.809	
SB Allowin Chi-squ	ng Time-Spe uare (28) =	0.354 cific Level 3 83.69. Level	0.138 Residual	2.564 L Variances	0.809	0.809	
SB Allowin Chi-squ SB	ng Time-Spe uare (28) = ON	0.354 cific Level 3 83.69. Level	0.138 Residual	2.564 L Variances	0.809 :	0.809	
SB Allowin Chi-squ SB LUI	ng Time-Spe uare (28) = ON NCH	0.354 cific Level 3 83.69. Level -1.312	0.138 Residual 1 3 Estin 0.367	2.564 L Variances: nates and SI -3.576	0.809 c.s: -2.495	-0.516	
SB Allowin Chi-squ SB LUI MST	ng Time-Spe uare (28) = ON NCH IRAT	0.354 cific Level 3 83.69. Level -1.312 2.281	0.138 Residual 1 3 Estin 0.367 0.771	2.564 L Variances nates and SI -3.576 2.957	-2.495 4.338	-0.516 0.308	
SB Allowin Chi-squ SB LUI MST Residu	ng Time-Spe uare (28) = ON NCH IRAT ual Variance	0.354 cific Level 3 83.69. Level -1.312 2.281 es	0.138 Residual 1 3 Estin 0.367 0.771	2.564 L Variances: nates and SI -3.576 2.957	-2.495 4.338	-0.516 0.308	
SB Allowin Chi-squ SB LUI MS ⁷ Residu MA ⁷	ng Time-Spe uare (28) = ON NCH IRAT ual Varianc IH7	0.354 cific Level 3 83.69. Level -1.312 2.281 es 1.396	0.138 Residual 1 3 Estin 0.367 0.771 0.749	2.564 L Variances: nates and SI -3.576 2.957 1.863	-2.495 4.338 1.396	-0.516 0.308 0.159	
SB Allowin Chi-squ SB LUI MS ³ Residu MA ³	ng Time-Spe uare (28) = ON NCH TRAT ual Variance TH7 TH8	0.354 cific Level 3 83.69. Level -1.312 2.281 es 1.396 1.414	0.138 Residual 1 3 Estin 0.367 0.771 0.749 0.480	2.564 L Variances: nates and SI -3.576 2.957 1.863 2.946	-2.495 4.338 1.396 1.414	-0.516 0.308 0.159 0.154	
SB Allowin Chi-squ SB LUN MS ⁷ Residu MA ⁷ MA ⁷	ng Time-Spe uare (28) = ON NCH TRAT ual Variance TH7 TH8 TH9	0.354 cific Level 3 83.69. Level -1.312 2.281 es 1.396 1.414 0.382	0.138 Residual 1 3 Estin 0.367 0.771 0.749 0.480 0.381	2.564 Variances mates and SI -3.576 2.957 1.863 2.946 1.002	-2.495 4.338 1.396 1.414 0.382	-0.516 0.308 0.159 0.154 0.042	
SB Allowin Chi-squ SB LUU MSC Residu MAC MAC MAC	ng Time-Spe Uare (28) = ON NCH TRAT Ual Varianc TH7 TH8 TH9 TH10	0.354 cific Level 3 83.69. Level -1.312 2.281 es 1.396 1.414 0.382 -0.121	0.138 Residual 1 3 Estin 0.367 0.771 0.749 0.480 0.381 0.518	2.564 2.564 Variances: nates and SI -3.576 2.957 1.863 2.946 1.002 -0.234	-2.495 4.338 1.396 1.414 0.382 -0.121	-0.516 0.308 0.159 0.154 0.042 -0.012	

















Output Excerpts A Multilevel Growth Mixture Model For LSAY Math Achievement (Continued)

Model Results	Estimates	S.E.	Est./S.E.	
C#1 ON				
FEMALE	-0.751	0.188	-3.998	
HISP	0.094	0.705	0.133	
BLACK	0.900	0.385	2.339	
MOTHED	-0.003	0.106	-0.028	
HOMERES	-0.060	0.069	0.864	
EXPECT	-0.251	0.074	-3.406	
DROPTHT7	1.616	0.451	3.583	
EXPEL	0.698	0.337	2.068	
ARREST	1.093	0.384	2.842	
				39

Level				
ON				
СН	2.265	0.706	3.208	
RAT	-2.876	2.909	-0.988	
ON				
СН	-0.088	1.343	-0.065	
RAT	-0.608	2.324	-0.262	
	ON CH RAT ON CH RAT	ON CH 2.265 RAT -2.876 ON CH -0.088 RAT -0.608	ON CH 2.265 0.706 RAT -2.876 2.909 ON CH -0.088 1.343 RAT -0.608 2.324	ON CH 2.265 0.706 3.208 RAT -2.876 2.909 -0.988 ON CH -0.088 1.343 -0.065 RAT -0.608 2.324 -0.262

Output Excerpts A Multilevel Growth Mixture Model For LSAY Math Achievement (Continued)

Within Level				
HSDROP OI	1			
FEMALE	0.521	0.232	2.251	
HISP	0.208	0.322	0.647	
BLACK	-0.242	0.256	-0.944	
MOTHED	-0.434	0.121	-3.583	
HOMERES	-0.089	0.052	-1.716	
EXPECT	-0.333	0.052	-6.417	
DROPTHT7	0.629	0.320	1.968	
EXPEL	1.212	0.195	6.225	
ARREST	0.157	0.263	0.597	

Output Excerpts A Multilevel Growth Mixture Model For LSAY Math Achievement (Continued) Model Results Estimates S.E. Est./S.E. Std StdYX Between Level CLASS 1 IB ON -1.805 1.310 -1.378 -0.851 -0.176 LUNCH -13.365 3.086 -4.331 -6.299 -0.448 MSTRAT HSDROP ON 1.087 0.543 2.004 1.087 0.290 LUNCH -0.178 1.478 -0.120 -0.178 -0.016 MSTRAT IB WITH -0.416 0.328 -1.267 -0.196 -0.253 HSDROP 42











